. + Ll _}- __.i_“
L{ 6 2 \

Y\ﬁoo /—‘n

29

."

"7 2\’\‘$+ N

N Y




= +
(let @) (le+8) - e+ %

O A, B

k:f\ .

— v
l > [ I ]
0 O(
2 (9 (148) ‘Z ¥ o

=4







Tl\fL (U V\U&Q‘j Lc\/\%esm (,Jij,‘

s= (Ial21-1a0) = a2)
So= (2~ lm) (1n(3)-Ja(2) ) = 1al3)

gs’(y/i \f\(\ +(l l)l/ ’f\(‘{) JX(/
: — Ja (M

So, Sn= esn
Thet (5,

et i) = ln (l) | = |tv S. =1im ,v\(f\ﬂ)
Kzl[ | ] Y{ﬁi L'Wﬁbo
= (2

The rve &xc{\lﬂuét O{ZM?M '




Y ( + =2
RS pe —
B
| + 0
ek X
>0, Zc‘mo dres a0t Converge >

@ Z e \n(k)
k=2

T adeqral dlect Hme
Jpatinn=

T(x) = x la(x)

_ = 50 twe x2 2.
’ ’KX)« X \a(x)

o () 1S con v tvs he x2z 2,




P9 '

XL
X

0 (xInCx)) = i),

’——\
(X/A/X))Z

:?,\A\Vk\ +C
=uann) 4C
— £ % ’We
Seaés

d{vergta




@ Z le

=\

G2 5 Alnsbng seaies RsF
e 1114"
' 7 \/ 2 3
MT—:"E/ Sine QH\) y k
c ™ l21+‘ 3 (j/Q/‘(V S
5 <
5 P 2
M (e (lerh 7 e
80/ O\V-ﬂ A
e
\ 5 - 0
., \»::po e \\igoo e
-
< ) Yl mMQ/W\&HL)\&j JSZTRAN Jes 4
20 *)
= “ ‘g Conwergs.
i (,\) l/g,:b_l/‘




I
| (1) - 10" \
= |'m (et ! )’)
. on
\L“)/X) ‘\k\'le__
t \
- \lrv\ (K*\\ \0 ’ Kk‘, b
=\ \ s
| D (et \ | et
o
py) L S T
_ \im e (et
> M
)
\Q_’*" k' ) ‘LQ’
N e CON O R
- e 0o
le ¥ | ,__\_/— \O@
\wm B
\/1,'%
\tm /(\:f = C
= e X0
pell, *he e

CO(\UQ/LKO} C’-Y,




